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L* CIELABn2-Normhelligkeit L*
Ync=L* WRGBnc=100, 52, 87, 31

L*

L*90=95,52, γ=2,5, 1/γ=1/2,5=0,40
L*18=46,18, Sn=108,42, Dn=−8,42
L*3,6=20,19, L*n=46,18, Yn=18

log[L* /L* u]=0, mu=0,47

L* u=49, L* u=46

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
L* N(3,6)=20, L* u(18)=46, L* W(90)=96
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bereich
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L*/L* u CIELABn2 relative Normhelligkeit L*/L* n
Ync=L* WRGBnc=100, 52, 87, 31

L*/L* u

L*90/L*u=2,06, γ=2,5, 1/γ=1/2,5=0,40
L*18/L*u=1,00, Sn=108,42, Dn=−8,42
L*3,6/L*u=0,43, L*n=46,18, Yn=18

log[L* /L* u]=0, mu=0,47

L* u=49, L* u=46

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
L* N(3,6)=20, L* u(18)=46, L* W(90)=96

Anwendungs-
bereich
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log(∆Y) CIELABn2
Normfarbwertdifferenz
Ync=L* WRGBnc=100, 52, 87, 31∆Y

dY90=12,02, γ=2,5, 1/γ=1/2,5=0,40
dY18=4,57, Sn=108,42, Dn=−8,42
dY3,6=1,73, Yn=100, dYn=4,57

log(dY)=4,57, mu=0,60

L* u=46, dYu=4,57, dYu/Yu=0,2543

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
log(dY) = (1/2,5) log[2,5(Yu/108)] + [1−(1/2,5)] log(Y)
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bereich
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log(∆Y/∆Yn) CIELABn2 relative 
Normfarbwertdifferenz
Ync=L* WRGBnc=100, 52, 87, 31∆Y/∆Yu

dY90/dYu=2,62, γ=2,5, 1/γ=1/2,5=0,40
dY18/dYu=1,00, Sn=108,42, Dn=−8,42
dY3,6/dYu=0,37, Yn=100, dYn=4,57

log[(dY)/(dY)u]=0, mu=0,59

L* u=46, dYu=4,57, dYu/Yu=0,2543

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
log(dY/dYu) = [1−(1/2,5)] log(Y/Yu)

Anwendungs-
bereich
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log (∆Y/Y)  CIELABn2
Normfarbwertemfindlichkeit
Ync=L* WRGBnc=100, 52, 87, 31Sr=(∆Y/Y)

(dY/Y)90=0,1336, γ=2,5, 1/γ=1/2,5=0,40
(dY/Y)18=0,2543, Sn=108,42, Dn=−8,42
(dY/Y)3,6=0,4830, Yn=100, dYn=4,57

log(dY/Y)=−0,59, mu=−0,39

L* u=46, dYu=4,57, dYu/Yu=0,2543

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
log(dY/Y) = log[2,5(Yu/108)] − (1/2,5) log(Y/Yu)

 = (1/2,5) log[2,5(Yu/108)] − (1/2,5) log(Y)

Anwendungs-
bereich
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log [(∆Y/Y) / (∆Y/Y)u]  CIELABn2 relative 
Normfarbwertempfindlichkeit
Ync=L* WRGBnc=100, 52, 87, 31Sr /Sru=(∆Y/Y)/(∆Y/Y)u

(dY/Y)90/(dY/Y)u=0,52, γ=2,5, 1/γ=1/2,5=0,40
(dY/Y)18/(dY/Y)u=1,00, Sn=108,42, Dn=−8,42
(dY/Y)3,6/(dY/Y)u=1,89, Yn=100, dYn=4,57

log[(dY/Y)/(dY/Y)u]=0, mu=−0,39

L* u=46, dYu=4,57, dYu/Yu=0,2543

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
log[(dY/Y)/(dY/Y)u]  = − (1/2,5) log(Y/Yu)

Anwendungs-
bereich
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log (Y/∆Y) CIELABn2
Normfarbwertkontrast
Ync=L* WRGBnc=100, 52, 87, 31Cr=(Y/∆Y)

(Y/dY)90=7,48, γ=2,5, 1/γ=1/2,5=0,40
(Y/dY)18=3,93, Sn=108,42, Dn=−8,42
(Y/dY)3,6=2,06, Yn=100, dYn=4,57

log(Y/dY)=0,59, mu=0,39

L* u=46, dYu=4,57, Yu/dYu=3

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
log(Y/dY) = − log[2,5(Yu/108)] + (1/2,5) log(Y/Yu)

 = − (1/2,5) log[2,5(Yu/108)] + (1/2,5) log(Y)

Anwendungs-
bereich
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log [(Y/∆Y) / (Y/∆Y)n] CIELABn2 relativer
Normfarbwertkontrast
Ync=L* WRGBnc=100, 52, 87, 31Cr /Cru=(Y/∆Y)/(Y/∆Y)u

(Y/dY)90/(Y/dY)u=1,90, γ=2,5, 1/γ=1/2,5=0,40
(Y/dY)18/(Y/dY)u=1,00, Sn=108,42, Dn=−8,42
(Y/dY)3,6/(Y/dY)u=0,52, Yn=100, dYn=4,57

log[(Y/dY)/(Y/dY)u]=0, mu=0,40

L* u=46, dYu=4,57, Yu/dYu=3

L* CIELABn2 =109(Y/Yn)1/2,5−9  (Yn=100, Ync/100<Y<=Ync)
log[(Y/dY)/(Y/dY)u] = (1/2,5) log(Y/Yu)

Anwendungs-
bereich


